FLUID POWER

TipAL

PISTON PUMP
TPV Series 1 & Series 2

Variable Displacement Pump

Open Circuit
Size 18...140

Series 1 Series 2

Peak pressure 350 BAR Peak pressure 315 bar

Features

— Variable displacement axial piston pump of swashplate design
— Flow is proportional to drive speed and displacement.
— SAE mounting flange & shaft

— Flange connections to SAE

— 2 case drain ports

— Good suction characteristics

— Permissible continous pressure 280 BAR

— Low noise level

— Long service life

— Axial and radial loading of drive shaft possible

— High power-weight ratio

— Wide range of controls

— Short response times

— Through drive option for multi-circuit system

Phone: 07 3889 4591
Fax: 07 3889 5921

www.tidalfluidpower.com.au
sales@tidalfluidpower.com.au

TioAL

FLUID POWER




Model Code SAE mounting flange
TPV - 1 - 0711 - PF1 - S 14 R D - B - 62 - 13
o Displace- Control | Shaft No of Shaft Mounting | Service Line D:i-\tléosupgme
Description Series ment in Device Type Spline Rotation End Cover Flange Connection | coupling No
cclrev Teeth
of teeth
T 01 8 P S (5/8" Dia) Viewed 61
) (SAE A Pressure . From End Ports
(Tidal) 1 2BoltMount) | Control | SP"® @ /;I.. !)i o) | ShaftEnd Flanged
280 Bar U
P Continious. 028 I:RtG Spline 13 R N 62
pump) | 350 Barpeak |  (SAEB e (7/8"Dia) | RightHand | NoThrough [ N/A Side Ports N/A
(Pump) 2 Bolt Mount) | Fressure R Rotation Drive Flanged
Control
Spline 1 3
V 045 PF (7/8" Dia) L 64
. (SAEB K Left Hand End Ports
(Variable) Pressure & 1 5 .
2 2 Bolt Mount) Flow Control Key (1" Dia) Rotation Threaded
250 Bar 063 PF1 1 5
Continious. (SAEB Pressure & (1" Dia)
315 Bar peak | 2 Bolt Mount) | Flow Control A (5/8" Dia)
(Orifice (3 1/4" 1
071 Plugged) (3/4" Dia)
(SAEC o7 B 13
2 Bolt Mount) PFLR (11/4" Dia) TD (4" All Side Ports (7/8" Dia)
Pressure, 15
100 Flow & Torque Through Drive No Code (1" Dia)
(Variable (Swashplate Control (1 1/4" Dia) (5"
Displacement)|  Design) (SAEC (HP Control) 17 14 !
2 Bolt Mount) (1 1/2" Dia) D (1 1/4" Dia)
! 17
140 Exz 13 6" (1 1/2" Dia)
(SAED Displacement (1 3/4" Dia) 13
4 Bolt Mount) | (4 Control) (1 3/4" Dia)
Size 18 28 45 63 71 100 140
Parrallel with keys K 3/4" 7/8" 1" 1" 11/4" 11/2" 13/4"
Spline shaft SAE (non through drive) U 9T (518 13T (718" 14T (1 1/am
Spline shaft SAE (non through drive) S | 11T @4y [ 13T 7y | 15T (1 (14T (1 14 |14T (1 114 [17T (1 12|13 T (1 3/47)
Spline shaft SAE (through drive) S 13T (7i8ny | 15T (1 (14T (1 1a|14T (1 149 [17T (1 12|13 T (1 3/47)
Spline shaft SAE (through drive)(High Torque) R* 13T (78 | 15T (1) 14T (1 14y (17T (1 1727
R* Non Standard
End Cover (Series 1 unless noted)
Size 18 28 45 63 71 100 140
N61 * *
Without through drive N62 * * * Series 1 | * Series 2 * * *
N64 * Series 2
With through drive mounting Coupling Splines (through drive option only for series 1)
SAE A Spline shaft 5/8" (15.875) [TD-A - 9 9 - 9 9 9
SAE A-B Spline shaft  3/4" (19.05) TD-A - 11 11 - 11 11 11
SAE B Spline shaft  7/8" (22.22) | TD-B - 13 - 13 13 13
SAE B-B Spline shaft 1" (25.4) TD-B - 15 - 15 15 15
SAE C Spline shaft 1 1/4" (31.8) |TD-C - - 14 14 14
SAE C-C Spline shaft 1 1/2" (38.1) |TD-C - _ 17 17
SAE D Spline shaft 1 3/4" (44.4) |TD-D - _ 13
02 TPV




Technical Data

2 Operating pressure range-inlet

Absolute pressure at port S

Determination of inlat pressure Pa- at
suetion part 5 or reduction of displacement
for increasing speed.

Pansmin 0.8 Bar t.2 !
Pasion 30 Bar ' \Q N e S 16 ,§

& w1:4 b, 1.4 :
» Operating pressure range-outlet S ‘\:\\\' Y cﬂz
Pressure at port B E 1.0 \\ 1.0 ﬁ
Nominal pressurre P 280 Bar & S W i =
Peak pressure Pea 350 bar Jo; 08 8
(Fressure datato DIN 24312) L AT 08 Y 3 T
Applications with intermittent operating pressures displacementV /V, .,
upto 315 Bar at 10% duty are permissible
Limitation of pump cutput pressure spikes |s possible
with relief valve blocks mounted directly on flanga
connection
2 Casedrain prassure
Maximum permissible pressure of leakage fluid (at port L,L,);
Maximum 0.5 Bar higherthantheinlet pressureal port S
but no higher than 2 Bar absolute.
» Direction of through flow
StoP
2 Table of values (theoretical values without taking into accout 7, and . values rounded off)
Size 18 28 45 63 71 100 140
Displacement Mgmax) cclrev 18 28 45 63 71 100 140
Max. speed atV,,. (Nomax) rpm 3000 3000 2600 2600 2200 2000 1800
Max, permitied speed (limit spead) (No max)
with Increased input pressure P, baw.V <V, rpm 3600 3600 3100 3140 2600 2400 2100
Max flow atn, .. (@vomax) L/min 54 84 117 163 156 200 252

atn.=1500min  L/min 27 42 68 95 107 150 210

Max, power atn... (Pomax) kw 25 39 55 #it 73 93 118
(4 P=280 Bar | atn.=1500min  kw 13 20 32 ## 50 70 98
Max torque (/. B= 280 Bar) atV,.. (Tmax) Nm 80 125 | 200 pm 316 445 623
Torgue (L F= 100 Bar ) atVv, .. (1) Nm 29 45 72 100 113 159 223
Moment of inertia about drive axis (J) kgm® | 0.0011 | 0.0017 | 0.0033 | 0.0056 | 0.0083 0.0167 0.0242
Case volume L 0.7 0.7 1.0 0.8 1.6 2.2 3.0
Weight (without Mud) (M) Kg 15 15 12 22 33 45 60
Maximum axial force of drive shaft F af max N 1000 1000 1500 1760 2400 4000 4800
Max, permissible radial force” Fgmax N 770 1200 1500 2000 1900 2300 2800

1) These valués ars valid for an absolute pressure of 1 Bar
the displacement or increasing the input pressure the speed can be increased as shawn in

atthe suction port 8.By reducing

application of forces

the diagram F.
2) F‘Ieasegconsult us far higher radial forces. Eas t _‘!
L By e =R -1 -
1
2 Determination of displacement 5#2;3{?;_*
Yy M=oz Limi
Flow 9= o000 [LAmin] V, =displacement( CC )per revolution
166 -\ B v 5 AP = pressure differential ( Bar )
I S n =speed(rpm)
Lide s T 100 M 20T - e [Nm] n, =volumetric efficiency
1 »n = mechanical-hydraulic efficiency
T-n 2n ~T-n_ 95 , P h - ey
& i - g 1 1, =overall efficiency (n=n.+ 1.
Fawar P= ~gsag 80000 800-n,  L¥W o = Limin '
TPV...... 03



Warwick


Warwick



Fluid,Mechanical Displacement Limiter

@ Hydraulic fluid

The TPV variable displacement pump is
suitable for usa with minaral oil

2 Operating viscosity range

In order to obtain optimum efficiency and
service life we recommend that the operating
viscosity(at operating temperature) be selected
from within the range

v =operating viscesity 16...36 mm'/s

Referred to the reservoir temperature{open circuit).

@ Viscosity limits
The limiting values for viscosity are as follows:

Vo =10mm'ts
short lerm at a max_permissible case temp
ef 90T,

V= 1000 mm'fs
shart tarm on cold start

» Temperature range (see selection diagram)

t,,=-25C
1., =90t

o Selection diagram

-20 o 200 40 &0 B0 100
1[}091%‘ 1000
EQD X '\.\l-\\. IL‘

400 =
£ 2004 g
E SR, RS
E lng T A
. BV O O N
= 40 T
I \("‘i\ Pk E 3?1
2 L SSEAERTE -
= . -
15 e
> L W Y
104= ——r— — 310
-5 -0 i0 30 S0 7o 80lemperalure
= . ! - & tear
Ry =28 fluid tamperature range b = #20T

@ Motes on the selection of the hydraulic fluid

Inorder taselect the correct fluid it is necessary to know
the operating temperatureinthe tank (cpen loop)in rela-
tionto the ambient temperature

The hydraulic fluid should be selected so thatwithin the
operating temperature range,the operating viscosity lies
within the optimum range ( v ox) (s2e shaded section of
{he selection diagram). We recommend that the higher
vlscosity range should be chosenin each case,

Example:Atan ambient temperature of X' the operating
temperature 13 60C . Within the aoperating viscosity range
( vepi;zshaded area), this corresponds to viscosity rangses
VE46 or VG6E8VGEE should be selected

Impertant: The leakage oll (casa drain oil ) temperature is
influenced by pressure and pump speed andis always hi-
gherthan thetanktemperature. However, at an pointin

the sircuit may the temperature excesd 90T

Ifitis not possible to comply with the abova conditions b-
ecause of extreme operating paramaters or high ambient
temperatures please consult us.

@ Filtration

The finer the filtration the better the cleaniiness of tha pr-
essure fluid and the longer the life of the axial piston unit

To ensure the functioning of the akial piston unita minim-
um cleanlinass level of:

Sto NAS 1638
18/15to 1SQIDIS 4406 is necessary

if above mentioned grades cannot be maintained please
consult supplier

o Mechanical displacement limiter

Mechanical displacemant limiter is possible on the nonth-
rough-drive model,  N62 butnatfer other codes

N61 and N64

Vymae' Tor sizes18 to 140
setting ranga Vyme to 50% Vonwe stepless

Wamin: for sizes 100 and 140
setting range Vme to 50% Yiw. stepless

04




Installation Notes

Optional installation positicn Tha pump housing must be
filled with fluid during cormmissigning and remain ful| wh-
enwperating. In order lo attain the lowest noise lavsl, all
connections{suction, prassure casae drain ports) must be
linked by flexble couplingsto tank

Avoid placing a check valve in the case drain line.

This may, howevar, be permissible in individual cases,
after consultaticn with us,

1. Vertical installation (shaft end upwards)

The following installation conditions mustbe taken into
account:

1.1. Arrangement in the reservair

Before installation fill pump housing, keeping itin a horiz-
ontal pasition.

a) If the minmum flud levelis egqual to or above the pump
mounting face close port "L"plugged, leave ports "L " and

"S"open, L, piped and recommeandation & piped (see Fig.1).

b If the minmum fluid level is below the pump mounting
face pipe port”L " and "S8" according to Fig.2.

Close port"L" with respect taking into consideration con-
ditionsin 1.2.1,

Fluid

—
s

min. 200 mm
L

e

L

Fig.1

1.2_Arrangement cutside the reservoir
Befare installation fill the pump housing, keepingitina

harizontal position. For mounting above resryeir sea Fig 2.

Limiting condition:
1.2.1. Minimum pump inlet pressure Pas~~= 0.8 Bar
under both static and dynamic conditions,

2. Horizontal installation
The pump must be installad zo0 that"L" or"L " is atthe top

2.1.Arrangement in the reservoir

a) If the minimum fluid leve| is above the top of the pump,
port"L "closed "L" and "S" should ramain apen, L piped
and recommandation S pipad (see Fig.3)

b} If the minimum fluid lavelis eaual to or belew the top
ofthe pump, pipe perts "L" and possibly "S"asFig.4.;
close port"L"

The caonditions acconrding to tiem 1.2.1.

Fluid
L - o

min. 200mm
i VIm

Fig.3

2.2 Installation outsida the reseryaoir
Fill the pump housing before commissionsing
Pipe ports "=" and the highar part"L"ar "L "

a) When mounting above the resaryoir, see fig. 4
Conditions sccordingto 1,21

Baffle -

Mots: Avoid mounting above reservoir wherever possible Fig.4
in arder to achieve a low noise level.
The permissible suction height h comes from the overall
pressure loss, butmay not be bigger than hmax = 800 mm
{immerdion depth hian=200mm). b) Mounting below the reservoir
Pipe ports”L " and "S” apcording ta Fig 8,
i close port"L"
L, s L
S
st Fluid
= L e ]
;E ' .-.' Baffl =
= : , affle - —
Batfle Fig.2 L i
1
Cyverall pressura loss AP, = AP +AP+AP,=(1-P,, ..]=0.2 Bar S
/AP Pressure loss in pipe due = 1"
to accelerating column of fluid i :_iensity{kglm / c
o b | =pgipse lenght (m} ¢ .

SP= d 10.5 (Bar) dvi/dt = rate of change Fig.5

t influid velacity(m/s |
AP Pressure loss due 1o static head h = height( m)
SsP=h+p -g 105(Ba) p =dansity{ kg/m )

L P3:Line losses (slbows etc,) g = gravity=9 81m/s’

TPV...... 05



Installation Dimensions

TPV-1-028-X X X - XX X - X - N62

Shaft K
SAE B

('without control valves)

SAE B
2 hole
flange

2 :

ERIE

o =

o S

— '

4

mach. displacemsant
limite

Shaft S13
Shaft 22.4 ; (SAE B)
SAE J744 OCT 83
; pressure angle 30°
8I' 13 taeeth,
?ET [ | 1er32 pitch
ol hsl ||
=3
11 |
i\; "
= 25.1]
331
41

P Pressure port
8 Suction part

47.6
2
|
1
i

SAE 3/47
SAE /47

7/16" - 14 UNC

3/8" - 16 UNC

(Standard pressure range)
(Standard pressure range)

LfL Casa drain ports 3/4"-16 UNO (L plugged at factery)

06



Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick


Warwick



Installation Dimensions

TPV-1-045-xxX - XXX - X - N62 (without control valves )
Shaft K
SAE B-B
=] =
336 i
oo} |
e of-F=2
“ q -Hgl l
o = "5
— o
oY =3
o _ 2
B
BN I
1
mach displacemen| - 4140
L limitar k. $ 184
L 885 |
Shaft S13
Shaft 22.4; SAEB
SAE J744 OCT83
i
11 ol
m
@ | <y
oy pressure angle 30° '
O il 13 180th,
5\0 . | 16132 pitch
~tel ks
D 4
; J
SO TR
331
41
View V
i
- 0 F'
fil Er
Shaft 815 v
Shall 25-4 [SAE B-B)
SAE J744 OCT 83 62| |
N pressura angledd”
= X I:EI: 15 tesih,
11}2" \ 18/22 pitoh
{_', '_;15_
=
5
&
= 30
g I B Pressure port SAET"
o i =3 Suction port SAE11/2°
[ 458 L/L,  Case drain porte  7/8" - 14UNO

-

1/2"- 13 UNC

3/8" - UNC

(Standard pressure range)
{Standard pressure range)
{L, plugned factory)

07




Installation Dimensions

TPV-1-071-xXX - XXX - X - N62
SHAFT K
SAE C
g 115 ¥ F " )
SAE L /
2 hole {lange _-t L L/ 5 L
2.5 48 1
_...._.] = ! o
Hin e
] L ) T
hEC=— s
— | o
: LT 8%
- 23 I :Mai_n_u B §] 14 hlIl
17 1 '|I '
Ls Sy g &
14 33 W mech. displacement b 180
50 217 ! lirniger J L2160 A
e . 1075 |
Shafts 14
Shafl 32-4; (SAEC) j
SAE 744 DCT A3
View W
L 1 pressure angle 30" |
T4 = 14 teeih,
| R 12024 pitch ¢, @ g
a1 W = 3
o ] | =] -
g Gk J
42# T—J 1/2" - 13 UNC
& 35.5 .éZ_Q.J
@l 475 ]
554 |
View V
__:;2
= | P
vbl -
)
., 7/16"- 14 UNC (for SAE 1 1/4" flange)
3/8"- 16 UNC (for 1" SAE flange )
- Fressure port SAE1" {Standard pressure range)
] Suction port SAEZ2Y (Standard pressure range)
LiL Case drain parts  7/8 - 14 UNO (L plugoed at factary)

08




Installation Dimensions

TPV-1-100-XXX - XXX - X - N62

Cam

Shaft K
SAE C-C
178
....E - L
2 hols lange -
15, _ 68
i
e_aly
Nb o, 34T
Sg ey
Vit te |
. I
o, 8 W
B L 275 o
L 28
Shaft 517
Shall 38-4/ (8 AE C-C)
SAE JT44 OCT 83
5 pressure angle 30
i T 17 taath,
Lk -I T 12/24 pitch
=tml
Shen e
=0
Z|
=1
=
w| 435
SN
|sro,

o
= 1
oilodi 1
| A
o LD
[=} -
= i -
1
mech . displacament L
limiter
View W

mech. displacemsant
limiler max,

1/2"- 13 UNC

mech. displacameant
limiter min,

SAE1 1147
SAE Z /2"

Pressure port
Suctlon port

Casedrain parts 1 1/16" - 12 UNO

|
8 S
r ¥
|
180 .
210 i
View W
maah.displacemant
limiter min
)
= N - P
o
1/2"-13 UNC

mach.displasemant
limitar max.

{High pressura range}
(Standard pressure range)
(L. plugged al factory)

TPV

09



Installation Dimensions
TPV-1-140-xxX - XXX - X - N62
Shaft K
SAE D
] 173
4 hole o4 L H F
ole flange
1.3 ap /
= i |}
- g
2 o o
~ ® ]} == IE =1
— o - ?_ g ]
5 L. i =4
= = TERE \ |
aﬂ i ‘ I 1 n-—nq‘-
21 L g1 |\ P Ly | et
10 78 & mech.displacement |l 158.4
i P | limiter 200
3376 L =
Shaft $13
Shaft44-4; (SAED) "‘]
SAE J744 OCT 83 =)
'_g —i pressure angle 39" |
© My [ 13 1eeth,
b &/ 18 pitch
8 s
&} L
z i
gl &6
a | et | View W View V
[ miech, displacemont mach.diepl acemant
f_’ ; lrriter max. E Himiter min
1 -# ’ C_;
ST Tt X
2 5[\ e =
\f.' : 1/2"-13 UNC I\\ /2" - 13UNC
M~
508 mech displacemant 318 mech. displacemeant
- = limiter min. limiter max
F Pressure port SAE1 14" (High pressure rangea)
5 Suction port SAEZ 112" (Standard pressure range)
LL Case drain port 11/16 -12 UNO (L pluggedat lactory)

10




P Pressure Control

The pressura controller serves to maintain a constant pre-
ssure in a hydraulic system within the control range of the
pump, The puimp therefore supplies only the amount of hy-
draulic fluid required by the system. Pressurs may be ste-
plessly set at the control valyes.

@ Static operating curve i s

fatn.=1500 rpm:t, =50C) I B E
v L
I

I ]
i
| p 11 OO

hyateresis and pressure rise Ap p i = j

o T i

G =y < . : : i

H L7 |

I | i i

I 1 | i

: 1 i 1

o i : : .
s | i I
= : adjustment range | !
[] 1 1
b 1 I
Q. I 1 |

2
Operating pressure p [MFa]
] ] Ports
» Dynamic Operating Curves = Pressure port
The operating curves are mean values measured under s Suction port

test conditions with the unit mounted inside the tank. w) Case drain porte (L, phigged)

Conditions: n =1500 rom
t,. =500
Mzin ralief set at 35 MPa

Load steps were obtained by suddenly opening and closi-
ng the pressure line with a pressure relief valve as load
valve 1 m from the output flange of the pump.

(I S T~ S o

35
1 I\
- 30 » Controller Data
3 f ! i
E- 254 ,' Hysteresis and repetitive sccuracy 0P max, 0.3 MPa

| |
% 20 ' l' Max pressure rise
z | Size 28 45 7 100 140
& 12 ', ZP MPz 04 06 08 10 12
=] N
= 10 : Pilot oil raquirament _—___ Max approx 3 L/min
s i i
O e
o 4
s
9 @ Control Times

! Vi ) t.(ms) t.. (ms) t.. (ms)
= Size ggain5MPa  again22MFa again 28 MPa
@
ES 28 &0 30 20
n @ 45 80 40 20
3 71 100 50 25
Sty L 100 125 90 30

Vim 140 130 110 a0

—

contral ime |
- ——

swivel oultimet., swivelintimet.

11



Installation Dimensions

TPV -1-xx-P-xxx-x-N62

Sizes 28...100

T

4

Size 140

Size A Az
28 108 136
45 106 146
71 106 160
100 108 165
140 127 169

Conirol valve Installed here

lar anti-clockwise rotation

adjusimant soreve for
prassure cul off

For pressure compensated control
screw the standby adjustment
all the way in and plug the port 'X".

Contralvalve installed hara
far clockwise ratation

On sizes 2810 100 the DFR yailve used has the flow control spoal

blacked in the lactary and | hot lesied

Control valve installed hare Cantrol yalve inslalled here
lar anti-clockwise rolalion for clockwise rotation

adjustmanl screw for
pressure cut off

@

s

T

12




PRG Pressure Controller, Remote Control

Aprassure rafief valve can be connectad to port X for rem-
ote control applications:this is not included in the items s-
upplied with the PRG control

The standard prassure differential setting at the contral v-
alve s 2 MPa. A pilatall flow of apprew, 1.5 Limin Isthen
used. Ifan other setting (range1-2.2 Mpa)is raguired ple-
ase indicate in claar text.

@ Static Operating Curve
(at m=1500 rpm; tai=50C')

hysterosis and prossure flse P

=

iR {

adprstment range

e

displacement g
| s
s e e e e

=
1

aperating pressure P [MPa]

@ Controller Data

Hysteresis P max. 3.0 Bar

Max pressura rise

Size 18 28 45 71 100 140
AP MPa D4 DE D8 10 1.2

Pilotoil requirement —_approx. 4.5 L/min

Sizes 18...100

nof included in supply

|
|
i

1
1
1
1
]
1
I
]

1__
éé
=
v

-l

AN .

I._____.l__.'__
]
i
Bl
1

]
I
]
]
]
[ ——
i
i
RN SR ——

|
|
|
|
|
b

w
Tw

Size 140

nol included in supply

et TR,

-4
P
I
I
4
I
'
-*__‘-._L_-%AJ
L
Ports
F Pressure port

5 Suction port
o Case drain ports(L. plugged}
X Pilot pressure pert

13



Installation Dimensions

Sizes 28...100

As

Size 140

i

—.L/‘———\_,a

ED%

(.

threaded sonnaction
Ti16-20UNF-2B

B

TPV-xxx - PRG -1 - xxx - X - N62

control valve Insialled here
foranli-clockwise rotation

s

adjustmen! sorew (or
pressure sut off

cantrol valve insialled here
for clockwise rotation

adjusimant sarew lor
differeriial pressure

caonlral valve installad hare
control valve installed here for cleckwise rotation

for anti-clockwise ratation \

A

r

LNl

adjustmeant screw lor
diffe rential pressire

Size Al Az Az Aa As Port X

28 109 136 119 40 118 7/16 - 20 UNF-2B x 12 deep
45 106 146 129 40 134

71 108 160 143 40 162

100 106 185 148 40 229

140 127 169 143 27 244

14




PF/PF1 Pressure [ Flow Control

In addition to the pressure control function, the pump Hlow
may be varied by means of a differential pressure aver an
arifice or valvespool, installed in the seryice line. The pu-

mp flow is gqual 1o the actual required flow by the actuator,

The PFi-valve has no connection between X and the tank

For function of pressure control see pages 11/12.

2 Static operating curve
{atn=1500rpm, t,=50¢C)

9 =
H 1 1 N i
! 1 |
Fr=—————— o —_—d =
! S Bt ik,
n I ! | E
E bFrmm—==- -t —— picf
g [T : Do
| adjustment range; 1 w
! i i o
: = ok
Qw20 280

cperating pressure P [ Bar j—e

@ Static operating curve at variable speed

-

-

flow g,

P
——
- ——

“q.(s=etable)

speed n —=

2@ Dynamic flow control operating curve
The aperating surves are average values
maasured undar test conditions with the
unitmounted inside the tank,

100 350
T L300 1
Pl e s 280 —
.75 &
= h . 250 8
E I ¥ rac0
3 50 ; \ 150 E
z ! h Lio &
& 2 ! T o
- LL,...._-------.. L 50 ©
N m
4 i \e 1.80 2
—= (stand b
contrel ll'ﬂ'l.:E: sk
-.;wweruul-l-;mn | EWI'-'I:T inTJme | -
si t,, (ms) t. (ms) t. (ms)
|28 stand by-280 Bar 280 Bar-stand by 50 Bar-stand by
28 a0 20 40
45 50 25 50
T1 B0 30 &0
100 120 B0 120
140 130 B0 130

¥
not included | H ' Lo i
In supply ! X E_.._EE?(I_I_‘: !
'Jr? [ e £ i I plugged an PFL.
o [
S S
P i Caemd |
N = H —]
v ' ] b
________ 1 I
i
it
I
|
_______________ 1
Pr
1
|
=
] (-
sz, .. (0 SR NS 8
w ]
5 L, L
Ports
P Pressura port

= Suction port
L L Case drain partsiL pluggad)
X

Filot pressure port

@ Differential Pressure /AP

Adjustable betwesn 10 and 22 bar
(highervalves on request).

Standard setting! 14 Bar _ If a differant setting
isrequired please indicate in clear text.

When port X isunlcaded to tank a "zerostroke
pressure” of P= 18 + 0 2 Bar (stand by) results
(dependentan AP

@ Controller Data

Data pressure controller see pagell .
Max. Flaw variation (hysteresisand incraase)
measured atdrive speed n=1500 rpm

Size 28 45 71 100 140
fa: [ Limin 10 18 28 40 B0

PF pilot oil cansumption____max approx, 3. 4.5 Limin

PF1 pilotcil cansumpticn max.approx. 3 Limin

15



Installation Dimensions

TPV-1- xxx PF - xxx - x - N62
TPV-1- xxx PF1- xxx - X - N62

Sizes 18...100

Conirol valve installed heia
for clockvrise rotation

Coniral valve installed here
lar anii-clackwise ratation

adjustment screw pressiure / adjustmen sorevs Tor Now

comroller cul-off pressure controller differential pressure

A

I
1  Korifice plugged
y L~ onPFL .

1

Size 140

i

threaded connection

i _ _&I i

71E6-20UNF-28

A5

control valve installad here

lor anli-clockwiss rolation Tor clockwise rotation

adjustment serow Tor Mow
cantroller differential pressure

i

P

adjusimenl screw pressure \
coniraller cul-ofl pressure 1[

[EPTIPER 1|

A

b B

=3

H
H

S

=

1
1.

Size A Az Al Aa As  PartX

28 109 1368 119 40 119 7/16 - 20 UNF - 2Bx12 deep
45 106 146 129 40 134

71 108 160 143 40 162

100 106 165 148 40 22¢

140 127 208 183 27 244

coniral valve installad hers

16




Through Drive

The TPV pump can be supplied with through drive in
accordance with the type code on page 2

The through drive versien s designated by the code num-
bers (TDA - TDDI

@ Combination Pump

By building an further pumps it is possible to ablain indap-
andant circuits:

Ifthe cambination pump consistsof2 TPV and if
these are to be suppliad assembled then the two order c-
odesshould ke linked by means of a "+ sign.

Ordering example:
TPVO71-PF-1-S14-R-TDB-13\+
TPV028 - PF1-1-S13-R-N62

o Maximum permissible
input and through drive torque

The splitintorgue between pump 1 and 2 is optional.
The max. permissible inputtorque T as well asthe max.

Permissible moment of inertia

[T}
|
i
i

m. m, m.[kg] Pump mass

1.0, Imm] distanceto center of gravity

T.=(m, * L#m.« L+m. = 1) = 503 [Nm]
Size 18 28 45 T1 100 140

Fermissible moment

of inertia Tm Nm

Permissible moment of
Inettia at dynamic mass) ™ N as
acceleration 10g=%8.1 m/s

permissible through drive terque T. may not be excesded Mass M, Kg 15 21 a3 45 80
To cenlar of gravity 1, mm 110 130 150 160 160
Size 18 28 45 71 100 140
Max, permissible inpul torgue al pump 1 with shaft "P"
T. Nm 137 200 430 B57 1208
Max. parmissible T. Nm 137 200 438 778 1206
through-drive torgue 7, Nm 112 178 283 308 557
Size 18 28 45 71 100 f40
Max . permissible input torque at pump 1 with shaft "5"
T,. Nm 137 318 626 1104 1620
Max. permissible T, Nm 160 310 492 778 1266
through-drive tprgile 7, Nm 112 179 283 388 557
Size 18 28 671 yo0 TeO Then = Max, permissible inputtorque atpump 1
Max. Permissible Input torque at pump 1 with shaft "R" =5 = Max, permissible through-drive torque

T. Nm 225 400 644 -

Max. permissible T. Nm 176 365 548 -

through-drive torgue 1 "N 112 179 283

d shaft ® |

atthrough-drive to splined shaft

Tokepearan = Max. permissible thraugh-drive tarque
atthrough-drive to keyad shaft

TPV

17

BB80 137D 21680 3000 4500

137 216 300 450



Instaliation Dimensions

TPV-1 + TPV-1
—L/—-\_/-H ' =T
7 o 1 i
e i P t
—i| ] a0 1
=l 1 <IN O O,
| - |
Ad
L
Az
A
vy St TPVO028 TPV045 TPVO71 TPV100 TPV140
TPV018
TPV028 164 | 204 |368.5| 410 - - B - 217 | 267 |431.5 473 | 275 | 338 (5025 544 | 275 | 350 | 514 | 556
TPV045 - - - - T84 | 220 | 413 | 453 | 217 | 267 | 4561 | 481 | 275 | 338 | 922 | 562 | 275 | 350 [b34 | 574
TPVO71 - * . * - - - - 217 | 267 | 484 | 524 | 275 | 338 | 555 | 595 | 275 | 350 | 567 | 609
TPV100 o = > ' - - - - = = E - 275|337 | 613 | 664|275 | 350 625 | 679
TPV140

18 TPV......




Installation Dimensons Through Drives TDA & TDB

Flange SAE-A, 2 holes, p
Order code TDA-09 or TDA-11

(splined shaft S9 & S11)

End of Shaft

Section A-B

Spline coupling
5/8" 16/32 DP 9T
3/4" 16/32 DP 11T

A ©
=17
_ | /| [ip]
ip)
1 o
(00
| 8
2
Alhw
A4 | /
Size of Main Pump | Al A2 A3 A4 | A5
9t 11t
28 204 | 47 8 188 | 10 M10 x 16 deep TO PUMP MTG FLG Al
45 229 | 53 8 188 | 10 M10 x 16 deep
71 267 | 61 | 8 21.3 | 10 | M10x 20 deep
100 338 | 65 8 19.0 | 10 M10 x 20 deep
140 350 | 77 8 189 | 10 M10 x 17 deep
Flange SAE-B, 2 holes (splined shaft S13)
Order code TDB-13
Section A-B Spline coupling
€g- A2 7/8" 16/32 DP 13T
A3
A
|77
o)
\ ¢\A69
X
_ ‘» _ 1 48
7 =
A5 ' -
B ! n
Al
] ,
/
A4 L
Size of Main Pump| A1 | A2 | A3 A | A5
11t
28 204 | 47 | 178 10 | M12x 18 deep TO PUMP_MTG FLG Al
45 229 | 53 | 17.8 10 | M12x 18 deep
71 267 | 61 20.3 10 M12 x 18 deep
100 338 | 65 18.0 10 M12 x 20 deep
140 350 | 77 | 179 10 | M12x 20 deep
TPV 19




Installation Dimensons Through Drives TDB-B & TDC

Flange SAE B-B, 2 holes (splined shaft S15)

Order code TDB-15

A5

45

A

~

pe

Threaded Holes

s

X

Section A-B

A2

A3

ZE

Spline Coupling
1"16/32 DP 15T

101,25

X

B I
Size of
Main Pump| Al [ A2 | A3 | A4]|A5
28
45 229 53 | 18.4| 10 [ M12 x 18 deep
71 267 61 | 20.8| 10 [ M12 x 20 deep
100 338| 65 | 18.2| 10 | M12 x 20 deep
140 350 77 | 18.4| 10 [ M12 x 20 deep

omitted on size 71

AS/

Flange SAE C, (splined shaft S14)

Order code TDC-14

Ad
TO PUMP MTG FLG Al
Section A-B
A2
A3

Spline Coupling
11/4" 16/32 DP 14T

omitted6n size 71

127

‘ TN
B iy
=
Alhw
Size of Ad
MainPump| AL | A2 | A3 | A4|As5 1 L/
28 10 PUMP MTG FLG Al
45
71 267| 61 | 22.0( 13| M16 x 18 deep
100 338 65 | 19.5 13 | M16 x 24 deep
140 350 77 | 19.4| 13| M16 x 24 deep
20 TPV




Installation Dimensons Through Drives TDC-C & TDD

Flange SAE C, 2 holes (splined shaft S17)
Order code TDC-17

A5

N

Section A-B

45- A2

A3 spline coupling
38-4(SAE C-C)

24 13"16/32 DP 17T
////' [/

1
127

B Lz
1 A
A4
TO PUMP MTG FLG Al
Size of
Main Pump | Al A2 | A3 | A4|A5
28
45
71
100 338 65 | 8 | 13|M16x 24 deep
140 350 77 | 8 13 | M16 x 24 deep
] Section A-B
Flange SAE D, 4 holes (splined shaft S13)
Order code TDD-13 "
A3

A5

161,6

AT

spline coupling
13" 8/16 DP 13T

/

161,6

»

152

Size of
Main Pump | Al

A2

A3

Ad

350
AS TO PUMP MTG FLG Al

28
45
71
100
140 350

77

10.5

13

M16 x 21 deep

TPV

21




TPV-2-045-xxx-Sxx-R-N64

22




TPV-2-060-xxx-Sxx-R-N62

23




	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2
	Page 1
	Page 2

